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Типы заданий 

 

1.Выберите правильный вариант:  

  

The writer found giving lectures … than writing books. 

a) easier  b) more difficult  c) impossible 

Last year he was invited to give a lecture to … students.  

a) Chinese  b) Japanese  c) Korean  

  

 Most of his listeners … understand spoken English.  

a) would  b) could  c) couldn’t  

 

The writer spoke to the students through ...  

b) another lecturer  b) a translator  c) an interpreter  

The writer told the listeners a … story  

c) sad  b) amusing  c) boring  

 

The writer told the listeners a … story  

d) sad  b) amusing  c) boring  

 

The interpreter made his story very …   

e) short  b) long  c) interesting  

 

The students … afterwards.  

f) laughed  b) didn’t laugh  c) cried  

 

The interpreter … the writer’s story in Japanese.  

g) told  b) didn’t tell c) couldn’t translate  

 

Вставьте пропущенные слова:  



Speaker 1  

He lives in a large  [France|football|modern|sea|Scotland]city. 

It’s famous for   [France|football|modern|sea|Scotland] teams. 

 

 

Speaker 3 

She is from [France|football|modern|sea|Scotland] . 

Her village is near [France|football|modern|sea|Scotland]. 

 

 

Speaker 2 

Her favorite city is in [France|football|modern|sea|Scotland]    

Соотнесите говорящего и высказывания: 

Укажите соответствие для всех 3 вариантов ответа: 

1) 
 This person’s parents live in a 

quiet city. 
1) 

Speaker 1             

2) 
 A famous music band lived 

there.  
2) 

Speaker 2             

3) 

 There are plenty of things to 

see and to do in this city. 3) 

Speaker 3                                     

 

 


